1 BEEQRHAH

MFeERICx I HIEE

(M EEEEDBMEIDNT

EFEIZKD
(2)HERFOSITNE
BAARKIZEKD

2 ERMERVHEEEDIERRUVZNES
EXMERVREEENERRUVEZNESIL. ROELYTHS

(Bfi: 1)
] o - L 2 L 2 N =
*‘I’ E H”Iﬁ\ﬂ*yilﬁl i%}]l]%ﬁ 5@,}“115 é,ﬁ\ﬂ*yilﬁl
HARBE
TEHATESE 110,800,000 0 o[ 110,800,000
INoE 110,800,000 0 o[ 110,800,000
BEEBE
HBEEEETEL 2,500,000 0 0 2,500,000
INEt 2,500,000 0 0 2,500,000
& &t 113,300,000 0 o[ 113,300,000
3 EAXMERUBEEEDHMREREDAR
EARMERVBEEEEOHREOARIZ. ROEEYTHS
(Bfr:[M)
Fl =} LERES BENSD BEMNSD ﬁ%g;
FEL4%8) FEL4%8) =
HARBE
THTES® 110,800,000 o[ (110,800,000) 0
INEt 110,800,000 o[ (110,800,000) 0
BEEBE
HBEEEETEL 2,500,000 o[ (2,500,000) 0
N 2,500,000 0 (2,500,000) 0
& &t 113,300,000 o[ 113,300,000 0
4 BHEREIZHELTWEEE
HRICHLTWSEEIHYEEA
5 BEDOEIESIE. SRS LU KRES RV LZBEDLXRES
(BfI:-[M)
B O BA B EESEE BHEILEBE | AfREEES
RIAE (B -TEZEEFHE) 1,000,000 0 1,000,000
6 HHMEFOARLEVICRME. LHDERERVES (B )
& % | mes | swkm | umems | smEos 4 KR %fagg’gﬁ,i\i
E%i B8 0 500,000 500,000 0
BEEE
e BT 0 500,000 500,000 0
& &t 0 1,000,000 1,000,000 0

7 RIMEBFOBREES
RAEEHEHYFEEA




